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M1 K=QWV2+V3)CR &L, LK ®DQ LoHuviards.

1. %ﬁkrﬁziﬂz[ . Q] &3k k. ([Q(W2,v3) : Q] =4 FBEAIE LTE W)
2. a=VV2+V3DQ EDORNEEA P e Q(X] %3k k.

3. LRV [L Q] &k &.

4. HO TG = Cal(L/Q) %, AHEEOLERE LTRYE.

5. A M T, LA M OKFE4IRIERTH D H D %KD K.

6.

HEMR M T, LM D8IRT —RIVIERTH2EDETRTRD, AUk Gal(L/M) %
MEIRFOER & L TRE.

M 2 L=C(X,Y,7) 2 EEZ8UK LD 3EHEMBRIKkE T5.
S=X+Y+Z T=XY+YZ+ZX, U=XYZ€EL

ERARNHAE L, K=C(S,T,U)CL&BL. weC 2 1DFIEIFRE T 5.

1. HuvRG =Gal(L/K) 2K &.

2. A=XY? 4+ YZP+ ZX2 2 BE, M=KA) CL&T5. MIZK OKFE 2¥HLKTH D,
LF M OK[E3RILKTH S Z & Z2mt.

3. 0€Gal(M/K) 2%t L, D=A—-cA&BL. D*c K &3¥. M=K(D)bxt.
4. C=X+wY +wzZ e&BL. C*eMzrtE. L=MQC)brRYE.

B 3 L=Q(X,Y,Z, W) 2 HHEIR LD 4 ZHAHELIKRE T 5.
S=X+Y+Z+W, T=XY+YZ+ZX+XW+YW + ZW,

U=XYZ+YZIW +ZWX +WXY, V=XYZW €L
ERAMBAL L, K=Q(S,T,U,V)C L¥5X.
L AETEG=Gal(L/K) %k &.
2. A=XY+ZW, B=XZ+YW, C=XW+YZ ¢HE, M=K(ABC)CL 3. M

IZXIET D GOHAREN ZkDL. NFERBIHTHL %2R L, FuTUH Gal(M/K)
H3kod K.

3.D=XY —~ZW, E=XZ-YW 8. D> E?c M %5¥. L=MD,E)HxR¥.

4. (BIE) #ERRE[K(A) : K| %2Rk K. K(A) D 2RAEAK M T LD M O 4K [EEK I
BH5EDEDBLED, M=K(F)2A7=3Z2HAF e QX,)Y,ZW]CcQX,Y,Z W) %12k
Z &.



